TEEANEUER (ENEEI)

SMAFEI0A L L DFHEGIEEEE

H-EZARE B | [ - B Y- B REAE
l|fttrEss &R (N GE3) 712 31H 22,072
2| BEAHIME | 4 31H 124
3|EEAHMEIN 8 31H 248
MRENBEREMEIN2 16 31H 496
S|H&EEEIEME | 36 31H 1,116
6| IEHRI S RIBEEME 5 31H 155
T|FREET 7 INE 3 31H 93
S|BE~Y XY X MinE 3 14 B 3
olHEE D XIEMME 10 175 B 10
10(RI 2 RN EHEE A H I E 40 14 B 40
11| 2w EEInE (AFTE) 20 ] 0
2B ENE (1I~110AFTHEMD8.3%) 1[9] 2,021
B EAEHENE (I~110AEMHD2.7%) 1[] 657
AN EBEN-R T v 7EXENE (I~110OAF#EMID1.6%) 1[H] 389
15| &FTEME (1~14) 27,424
16 =Rives &L 10.27M
178 (15x16)  (NEEUTTY T 281,644
18(FIAE&EE (M) (NEIAUTYY T 18838 28,164
9(FAEEEE (M) (AUTYY T 28818 56,328
20(FIAEalE (M) (NEEUTYY T RE=F! 84,492




TEEANEUER (ENEEL

SMAFEI0A L L DFHEGIEEEE

H-EZARE B | [ - B Y- B REAE
l|fttrEsz &R (ENEL) 780 31H 24,180
2| BEAHIME | 4 31H 124
3|EEAHMEIN 8 31H 248
MRENBEREMEIN2 16 31H 496
S|H&EEEIEME | 36 31H 1,116
6| IEHRI S RIBEEME 5 31H 155
T|FREET 7 INE 3 31H 93
S|BE~Y XY X MinE 3 14 B 3
olHEE D XIEMME 10 175 B 10
10(RI 2 RN EHEE A H I E 40 14 B 40
11| 2w EEInE (AFTE) 20 ] 0
2B ENE (1I~110AFTHEMD8.3%) 1[9] 2,196
B3| ELBHENME (1I~110AFEAKD2.7%) 1[=] 714
AN EBEN-R T v 7EXEINE (I~11oA5#EM016%)  1[E 423
15| &FTEME (1~14) 29,798
16 =Rives &L 10.27M
178 (15x16)  (NEEUTTY T 306,004
18(FIAE&EE (M) (NEIAUTYY T 18838 30,600
9(FAEEEE (M) (AUTYY T 28818 61,200
20(FIAEalE (M) (NEEUTYY T RE=F! 91,800




TEEANEUER (ENEESD)

SMAFEI0A L L DFHEGIEEEE

H-EZRR B | [ - B Y- B REAE
l|fttrEss&EA (N 3E5) 847 31H 26,257
2| BEAHIME | 4 31H 124
3|EEAHMEIN 8 31H 248
MRENBEREMEIN2 16 31H 496
S|H&EEEIEME | 36 31H 1,116
6| IEHRI S RIBEEME 5 31H 155
T|FREET 7 INE 3 31H 93
SIBE~ YAV MINE 3 14 B 3
olHEE D XIEMME 10 15 A8 10
10(RI 2 RN EHEE A H I E 40 14 B 40
1|2 KEFmE (AFE) 20 ] 0
2B ENE (1I~110AFTHEMD8.3%) 1[9] 2,368
IB|RELBHENE (1I~1108BAHRD2.7%) 1[] 770
IMNERER-RT v 7EXENE (1~1104AFEMD16%) 1 456
15| &5t EME (1~14) 32,136
16 =Rives &L 10.27M
178 (15x16)  (NEEUTTY T 330,036
18(MIAEEBE (M) (IMURUTYY T 18838 33,003
9(FmEEBE (M) (MEEUTYY T 28|38 66,006
20|FIFAERIEE (M) (MERUTYIY T RE=F! 99,009




